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it 10—0tl;é:r Linear and Non-Linear Functions

#1-10: Label each equation as direct variation, inverse variation, exponential

growth, or exponential decay.
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Write the function (equation) to represent the relationship.

1. The value of y varies directly with x. Write the function that represents the

re!ationilj'lip between x and y if
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. The value of y varies inversely with x. Write the fu

relationship between x and y if
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5. The number of cakes baked@@mth the number of hours jt ¢ ikes to
bake. Write an equation thattan be used to find the number of cakes baked for

any number of hours, if 16 cakes are baked in 4 hours.
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6. The Spegd you must go to cover a certain distance is ﬁ;:/errsely_gopormo the
% .time"of the trip. Suppose you must travel 54 miles per hour to complete your trip
if it takes you 4 hours How fast must you travel to complete your trip in 3 hours?
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1. If y(varies directly)as x and y =200 when x =40, find y when x = 8.
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2. The value of y |@versely propor’uon alto x. If y is 12 when x is 5, find the value

of x when y is 3. %i\
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| Jas x and y =5 when x =8, find x when y =25.
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4. The value of y is @a_s inverselyjto x. If y is 13 when x is 4, find the value of y

when x is 2. . -
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Consider each of the following tables. Label each as direct variation, inverse

variation, exponential growth, or exponential decay. Next, write the equation
that represents each table of data.
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Consider each of the following tables. Label each as direct variation, inverse
variation, exponential growth, or exponential decay. Next, write the equation
it represents each table of data.
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Eva’l/uat“‘e the following functions for the specified x-value:

- -3
1. Evaluate f(x) =12(2), if x =-3 “a ( %\) IQ (D\

L‘
2. Evaluate F(x) = 3( y,if x=4 € (L\\ ?D(%B

. -1
3. Evaluate £(x) = 8(%)”, if x=7 -£ () :8@5\
£ =.0e2

‘ I
4. Evaluate f(x)=24(1-.02)",if x =12 _{: O'Z\ ,;{;)‘-\ ( \"’ OD\

M |




Write the equation and solve:

1. A rabbit population triples every year If I start with 4 rabbits, how many rabblts
b,.,\ will T have in iLars? . L__Lg)”)
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2. The new drug to treat SARS_has a half-life of 1 hours, If 50ccis initially
administered, how much will still be in y your system 24 hours later?
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3. A small town’s populatlon in a year 1930 was 4,210. If we know that the
X\~ population @v@t a rate of 4.5% per year, what was the popuiatlon in the year
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4, In 1997, the population of humpback whales Waat a rate of 7.4% per
-,md) year. If there were 176,534 whales in 1997, how many would you expect to in
?
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Look at the following graphs and find the given values:
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Match the graphs to their equation. Use the equation bank below the graphs:
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